Solved Key to Final Exam; Finance 4360; Spring 2006; May 5th; 2:00



Note:  For all problems requiring calculations, set up but do not solve anything.  “Set up” means write down the appropriate equation and plug in as many numbers as possible.  For multi-step problems, you should refer back to previous steps.
Bonus:  What Excel shortcut key strokes are used to “undo the last action performed”?
Ctrl + Z
Short answer questions/problems

Note:  if you write more than a couple of sentences on a short-answer question, you are likely writing too much.

1.  Dell Air has 100,000 shares outstanding with a market value of $45 per share.  The market value of Dell Air’s debt is $1,000,000.  Assume that Dell Air decides to issue 100,000 put rights to existing stockholders in order to repurchase 20,000 shares at a price of $65 per share.  Assume also that you receive 15,000 puts from the firm but that you sell 5000 of your puts and then exercise the rest.  Set up to solve for how many shares have you sold back to the firm?
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Solved:  2000

2.  Briefly discuss who gains and who loses with tender offers.
Stockholders who sell gain at the expense of those who do not.  
Or, stockholders with the greatest number of share lose out to those with the fewest shares if oversubscribed.
3.  What impact does stockholder-manager conflict have on the amount of dividends that stockholders want a firm to pay?
Increases amount of dividends stockholders want to receive.
4.  Assume that in an effort to reduce the deficit, the US government was to make all dividends and capital gains taxable as ordinary income even if stocks were held in tax-deferred accounts such as 401k plans or IRAs.  How would you expect this change to impact the pre-tax returns on high dividend stocks (assuming nothing else changes)?
Increase to compensate for the higher taxes.
5.  Several years ago you bought 30,000 shares of Hondyota Motors at $15 per share.  Since then the price has risen to $20 per share.  If the tax rate on dividends and capital gains is 15%, set up to solve for the amount of tax you will owe if you receive $10,000 from the firm as dividends?  Set up to solve for how much tax will you pay if you receive $10,000 from the firm as they repurchase shares for $25 per share?
Div = .15(10,000); Capital gain = 
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Solved:  Div = 1500; Capital gain = 600

Problems/Essays

1.  Based on the following return data, set up to solve parts a through c below.
Return on:

Year
Hilton
Verizon
2006
24%
-3%

2005
25%
-1%

2004
32%
5%

2003
-18%
-2%

2002
49%
-25%

2001
32%
-5%

a.  What was the standard deviation of returns on Hilton and Verizon over the last 6 years?

b.  What was the covariance between Hilton and Verizon over the last 6 years?
c.  What was the std. deviation on a portfolio over the last 6 years if had you invested 40% of your funds in Hilton and 60% in Verizon?

Note:  for all parts, r(H)t = 24, 25, 32, -18, 49, 32; and r(V)t = -3, -1, 5, -2, -25, -5

a.  
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b.  
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c.  
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Solved:  

a.  
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b.  
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2.  Brunswick Inc. is considering building a new bowling ball manufacturing facility in order to meet growing demand for bowling balls in the Asia and Pacific region.  The new facility will cost $22 million to build and will be built on land that Brunswick purchased a year ago for $1 million.  The land could be sold today for $1.5 million after taxes.  The new facility will produce a net cash flow 5 months from now of $2 million.  Subsequent cash flows will occur quarterly through 10 years and 2 months from today and will grow by 3% each.  The standard deviation of returns on the facility is expected to be 44%.  The beta of the new facility is expected to be 1.2 which exceeds the 1.1 beta of Brunswick’s existing facilities.  If the return on T-bills is 4.3% and the market risk premium is expected to be 6.5%, set up to solve for the net present value of the new facility.
NPV = PV(inflows) – 22,000,000 – 1,500,000
PV (inflows):  
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r(1) = .043 + (1.2)(.065)


[image: image19.wmf](

)

(

)

(

)

1

1

1

4

1

4

1

-

+

=

r

r


Solved:  r(1) = .121, 
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, V2mo = 79,289,602.84, V0 = 77,794,454.60, NPV = 54,294,454.60
3.  Archer Daniels Midland (AMD) is considering building a new ethanol processing plant in Iowa in order to meet growing demand for alternative fuels.  AMD estimates that the new plant will cost $35 million to build and is expected to produce net cash flows over the next 20 years with a present value of $51 million.   If sales fail to materialize, AMD estimates that it can sell its facility to a firm making corn-based plastics for $25 million any time over the next 5 years.  AMD will fund the new plant with $5 million of cash, debt that matures in 15 years for $25 millions, and by issuing additional shares of common stock.  The standard deviation of returns on the plant over the next 5 years is estimated to be 45%, over the next 15 years is 48%, and over the next 20 years is 50%.  All of these numbers are higher than the overall standard deviation of returns on AMD as a whole of 39%.  The return on Treasury strips (APRs with continuous compounding) depends on maturity as follows:  1-yr = 4.98%; 5-year = 4.99%; 15-year = 5.34%; 20-year = 5.37%.  Set up to solve for whether or not AMD should build the new plant.
NPV = 51 – 35 + P0
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Look up N(d1) and N(d2) on cumulative normal distribution table

Solved:  d1 = 1.4596, d2 = 0.4538, N(d1) = .92785, N(d2) = .67364, C0 = 34.198, P0 = 2.678, NPV = 18.678

Excel:  NPV = 18.652
4.  On Monday, May 1st, Motorola raised their quarterly dividend by 25%.  Ignoring issues related to taxes, how would you expect this announcement to impact Motorola’s stock price?  Justify your answer.
Likely to rise.  
1)  Signal that management is optimistic about future earnings and cash flow

=> one of the things management considers when setting current dividends is their expectations regarding future earnings and cash flow.

=> management is more likely to increase dividends today if expect earnings and cash flow to increase in the future.

2)  Helps resolve stockholder-manager conflict
=> the more dividends a firm pays, the greater the chance that the firm will have to issue securities in the future to fund future investments

=> the increased chance of future monitoring that occurs when firms issue securities keeps management acting in stockholder interest today

3)  Stockholders gain at the expense of bondholders when dividends are paid
=> reduction of assets as pay dividend causes both stock and bond prices to fall

=> stockholders have net gain since they get the entire dividend

=> risk rises as firm pays out least risky asset

=> stockholders gain at the expense of bondholders when risk rises.

5.  List the methods we discussed for resolving conflicts of interest between stockholders and bondholders.  For each method you list, state which method for resolving conflicts of interest between stockholders and managers is most similar and then explain why the methods are similar.
1)  Restrictive covenants
Most similar:  contracts
Reason:  both lay out acceptable and unacceptable actions by the management (for stockholders) and stockholders (for bondholders).
2)  Monitoring (usually through trustee)
Most similar:  board of directors

Reason:  trustees are supposed to watch out for bondholder interests and the board of directors is supposed to watch out for stockholder interests

3)  Convertible debt

Most similar:  incentives given to management
Reason:  

=> with convertible debt, bondholders share in the upside that stockholders have if they convert their shares.  
=> with incentives, managers share in the upside that stockholders have when receive bonuses or wealth increases from options or stock.  

6.  In the real world, the interests of stockholders and the interests of managers sometimes differ.  How might these differences impact the capital budgeting decisions made by the firm?  In other words, discuss capital budgeting decisions a manager might make that would benefit the firm’s management but not the firm’s stockholders.
1)  Management is likely to overinvest in projects that reduce company specific risk
=> stockholders are indifferent since they are well diversified

=> managers want to minimize since they are not well diversified

2)  Management is likely to overinvest in order to make the business larger

=> larger firms benefit management (but not necessarily stockholders) because pay, power, perks, and prestige are usually higher at larger firms.  

7.  Explain in words the changes to the U.S. tax code that would cause the amount of debt issued by the typical firm to rise.
1)  Increase in corporate tax rate

=> more of a tax shield from debt
=> debt becomes more attractive to firms
2)  Decrease in tax rate on interest (ordinary) income
=> bondholders lose less to taxes
=> willing to accept lower pre-tax return (or bonds become more attractive to investors)
=> debt becomes more attractive to firms
3)  Increase in tax rate on dividend and/or capital gain income

=> stockholders lose more to taxes

=> stockholders demand a higher pre-tax return (or stock becomes less attractive to investors)

=> stock becomes less attractive to firms (or debt becomes relatively more attractive to firms).

4)  Extend loss carryforward or carryback

=> more likely to be able to deduct interest.
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